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Jdentify the characteristics and basic 4. Teacher asks students to give exa.mples and
requirements of reflective level teaching in the parallel ideas/‘@T&ﬁ? BEAT/SEHBT A EHESU

following list of statements: tav o=
et @ frmteriga i 4 famyff fem v & S et Rrew 4 % Rvg e

m@mmmwm 5. Academic sessions are conducted in a

@t Tafega sty \/ dialogic mode to explore and explain the

1. Teacher presents the information and ideas basis of arg““'lf-‘l'ltsma'if o fafga smamt s
systematlcally to help to recall them when IAEUT MW IR AT wH ¥m
needed/1aTeh  wWaTRN 3w fawmi @ mmﬁﬁ’rﬁﬁwz T B
wafeda afies ¥ uga &ar g drfeR .
T T w vED A s o i Choose the correct answer from the options

given below:

2. Teacher conduct drills and exercises to fix m ﬁ’ .a 'Flﬂ faeeq &1 9T aﬁﬁrq—

up the ideas in minds of the

students/fo1eTeh W/manﬁ o witdss o (a) 1 and 2/1 32 (b) 3 and 4/3 3R 4

fa=o 32 & &9 1T AT 2 ¢) 3and 5/3 35 ) (d) 4and 5/4 3R S
\/ Issues are raised and discussed with a view ' '

to sift the potential ratlonal solution of

problems/ WHES o WHIaA ?IT%E‘




4. Teacher asks students to give examples and

Identif the characteristics and  basic . . C s me
requirgments of reflective level teaching in the BRSNS Edeas/ﬁ'l&fa—? NS
following list of statements: 3w forem 3 & fore wgar =1
HT & fraferfRaa -q;ﬂ- o faooff Saa =t &% 5. Academic sessions are conducted in a
foraror fearoraarstt T TAyd aﬁamﬂ- dialogic mode to explore and explain the
e ! e basnsgof arguments/ﬂl;zaf o fafga al;mr& <Rt
Rafrger D TAEUT AT IFAHRT _EAT i o T
1. Teacher presents the information and ideas FATITTE =9 T ST TS T AT E
systematlcally to help to recall them when Choose the correct answer from the options
needed/¥TeTar  Wu=mRN MR faumr =t givem Belony:
wafea afiee ¥ wEa &ar g afeh | famferfiaa o @ OE faehew o waT wHifu—
JEAYTHAT TS W 3% ATg & | Aag o (a) 1and2/1 3R 2 (b) 3 and 4/3 3R 4
2. Teacher conduct drills and exercises to fix (c) 3and 5/3 T 5 (d) 4 and 5/4 R 5
up the ideas in minds of the ' '
students/f¥18Teh W/manﬁ & wiEss H| [Ane (Y7 T &t fameif =X ey & @
FarSIN 98 W 3 VAR T R ¢ 3o il W sl Ay w ofnfed @d 81 3ed

3. Issues are raised and discussed with a view

to sift the potential ratlonal solution of SUIRIE a; g ifches geE Sy a’_@ % 3%“’?‘
problems/m wurfaa  drfehes waﬁmmmgaﬁ(‘ﬁmﬁfaﬁmg|
TEEN G I S S WA W ey gfifew, w@ R G @ oA GRS

oy T R SS9 A0 6




Which of the following strategies of teachinl 2
are learner-centered?

frofafiga & @ freror &t 39 Tt e
TAA HITAT, I TRt iy §—
1. Cybernetics/TgatAfead

2. Lecture with audio visual aids/9sq - 399 -
weas fymor gl & meEar 9 fgmr mn
A

3. Question-answer session/¥¥4-30¥ 99

4/ Practical tasks based project/RIRE Y -
S LGN TTIEE |

5. Group discussion/H9g =4l
Choose the correct answer from the options
given below

forereal o ¥ 21T IR T
a)/1 and 4/1 3R 4 (b) 1and 2/1 3R 2
(¢) 3 and 4/3 3R 4 (d) 4 and 5/4 3R 5




Which of the following strategies of teachiné Ans, (a) e q{ '“ T C‘)ﬂ'{ S -\ ~ ,,\
are learner-centered?

Praferfgs & @ fogwn @ 3 et @ WWWWW%M
a:mcﬁmﬁ 3"b3'ﬁ"aii"m%' ¥t ke o A o s e )
. LYDCINetics
2. Lecture with audio visual aids/4<4 - 339 - Bﬁ%ﬂﬂ m&m ﬂlﬂiﬂ Wﬂ'ﬁ’mﬁﬁlgl
weas e el @ weEd ¥ far
A

3. Question-answer session/¥¥--3t{ 97

4. Practical tasks based project/3ATa@IRe -
e gRErsHT

5. Group discussion/59g 9di

Choose the correct answer from the options
given below

3 s g s I
@ and4/1 34 (b) 1and 21 32
(c) 3and4/3 4 (d) 4and 5/4 35




Which of the following sequences correctly
reflects the development of teaching support
systems in Indian higher education?

frafafaa o 9 &Far e R Ieu e o

forerur-wae yomelt & fa@Ta @ wWE @ W

yfafeifard aiar &7

(a) Audio-visual, Aural-oral, Visual and ICT
based/3¥a-94, FHiftla - wiflgsh, gvawe 3R
amhﬁa"r e

ural-oral,) Visual,. Audio-visual and ICT
based?%ii%igﬁ ritfig, I-YFL. 3R 311'5‘ |14

()ICT based, Audio-visual, Aural-oral and
Visual/ 3. @A, - smufta, 3v9-9=9, &ftia
- Tifigdh 3R YIRS

(d) Visual, Aural-oral, ICT based and Audio-
visual/G¥ITE, Ffvfe - Hifigs, .. -
IR 3R g¥a-9A




evaluation occurs informally during learning?

foreferiaa # @ form weaie gumett ® forero
& A SRS B ¥ Yedia g 87 Ff

(a) Evaluation 1 choice-based credit system/
fadhed - 3T Joredt § qediA
(b) Evaluation through computer based test/

FE - GG e o A | gam
4{(0) Summative evaluation/FeheTr Jichlchd \
FOW\‘UW (G ﬂ“/

In which of the following evaluation systems; @




[n which of the following evaluation systems,
evaluation occurs informally during learning?

ferfeiga & @ fom weaa yomet o fre
% SR IR %9 T qrate g 7

(a) Evaluation chmce based credit system/
foed - eIt Jomeh e

(b) Evaluation through computer based test/
P - I 08 o A e

(c) Summative evaluation/ S Teald

(d) Formative evaluation,FRTITFHRS e

Ans, d) WWWWWW%W
(e ﬂwlmrismélsﬂmﬁm QT

mqﬁwwélwﬁiwﬁ, _a?amﬁ

e, A T, T qtm




Hrer g B2 fau o ¥ R de-1 § vy &
YR T Iooid & Fafeh qe-11 § ITehT Jui §:

Set/q2-1

Set/@z-11

C. Action Research/
feraTaass orer

v

Exploring
applicability of
truths/principles
in new situations/

==t ufRfeafaar o
T fagiar =
STFEAT =T
TEOTEaTST =T
TATITAT

D. Case Study
Research/&af<s -

ITETTT IIET

4.

Impact studies in
order to know the
impact/FHa1a

=Y 29 9@
ITETOT

Adding to corpus

of knowledge by
formulating

theory/fagia
fagior &6 wreaw |
e o sthhghs

(Types of Research/ (Descriptinn/ﬁlﬁh)
IIET o YehT)

A. Fundamental I. In depth study
Research/dTeTen \/ with focus on
girer typicalities/

fafvrgarei w
higd g TeTa=

B. Applied Research | 2. Intervention based
SHaEd I ameliorative

moves

JMEMTRA GRS

wa  —
(I & | b/\ .

Choose the correct answer from the following

options:

faafafiaa fascar § 9 937 397 o1 =999

'aﬁﬁ?rq:
vl s

(b) 1
(c) 3
(d) 2

AN
Ul—'UJNn




In which of the following research methods,
manipulation and control of variables, and (o
randomization of samples are two basic — —

requirements’

freferfige ® @ fom v fafir o =@ afted o
¥ (AR ) 3l fo qen wfvest @ %5’
TG, 3 YA UG ¢

(a) Ex-post facto research/TATR MY
(b) Descriptive research/aUATE Y
(c) Case study research/aAf¥ 3&AT Y

(c_l! Experimental research/SaTE m f




Which of the following sequences correctly
represents the steps of research using a
quantitative garadlgm"

o forg w0 o uETE giawE
(ﬂ‘rgrsn) &1 IUART A §U INY ok AT
WET & W v W g7
(a) Formation of Hypothesis, Hypothesis testing
Conclusions and Reportin

fmfor, afaea wlieo, ﬁmﬁaﬁtnﬁém
IR

(b) Selection of a research problem, Formation of
Hypothesis, Hypothesis testing,
Generalization and  conclusions  and
Implications of results/SIE e &1 i,

Uftgega & fmir,  ofeewar ol
Qe Ud e e aRom & ffeard

(c) Problem identification, Selection of Samples,
Developing a research design and Field work/

quE &1 UgdH, Sfaeyl & 934, Yy sy

Fi fasfad F@r 3R diegas

(d) Defining a problem, Survey of related studies,
Sampling, Data collection and Data analysis/

gy & 9 &, defed sremadal &
goerur, wfaeyf, wfagaq, w4l &1 98U 3R
Yl &1 fagersor

-\

/




Which of the following sequences correctly
represents the steps of research using a
quantitative garadlgm"

o e w0 o wrTeHes glaw=
(ﬁw)mmﬁwaﬂ%mm%whﬂ
[ET & |/ qoTar T &7

(a) Formation of Hypothesis, Hypothesis testing,
Conclusions and Reporting/9R&ea=T &

fmafor, oftgeaar odwuor, faspd 3R wfdee
GECC]

(b) Selection of a research problem, Formation of
Hypothesis, Hypothesis testing,
Generalization and  conclusions  and
Implications of results/SNe TweAm & fAefor,

ofigeqar & fmio,  ofisegar adeo,
=T wd forsed qor aftomsi & fafgard

(c) Problem identification, Selection of Samples,
Developing a research design and Field work/

T $ gg9E, Sfasst &1 9949, Iy 3fusey

F fasfaa @1 31 Hiesash

(d) Defining a problem, Survey of related studies,
Sampling, Data collection and Data analysis/

guen & gRtaifSd @, de&fed s1egaEat &0
gdezqur, ufaest, sfagaw, wedi &1 99801 31
Yadi &1 fagarsor

Ans. (b) : AETHS Sfad= HT 3TATT FHId T Y H TN
EET“%‘TW%;
7 sty gaer & fAufoy e




In terms of research ethics, which of the
following may be considered as the most
vulnerable stage?

Vit Srem +fifer & weu ° frafofed 9 ° fe
ward Afireh SRRIATA RT WIAT A 87

(a) Defining the purpose and scope of study/

HeTd & LYY Ud HdeT 1 R

(b) Defining the population and sampling
mgthod/&7 Td Sfaeyl vgfd #i uRefd Hem

(cyData_analysis, interpretation and reporting of

results/SeTil & favelmur, IAE AN adr
QRO i SR
(d) Selection of research tools whether qualitative

or quantitative/?ﬁ?:l & WY & 999, 9% d
U 379d] JEIE & |




In terms of research ethics, which of the Ans. (c) : Qﬁu AR A a; H‘q"lﬁ T yed & ﬁ?ﬁﬂlﬂ,
following may be considered as the most T e T oW @ T T g9 T

vulnerable stage?

2 s A3 i E S SR T A AW | TR FO T g 6 A
e e sty S A A | o e e S s § e §
(a) Defining the purpose and scope of study/ T A F Gg 0 ow & S aﬁ T

AT & Ie¥4 U4 e F Rl Fe _ .
TS G W ¢ A T A T T § T
(b) Defining the population and sampling
D e A nting (@ 1 A 3 0 8

(c) Data analysis, interpretation and reporting of \/
results/Sedi @1 favemu, 39 AT qd

IR & SR
(d) Selection of research tools whether qualitative

or quantitative/?ﬁﬂ & WY & 999, 9% d

.
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ICT application in research is most useful for
which of the following reasons?

frmffiaa # @ ferw @nw & amam w oy §

o i wyew gttt (g o &) @

YYAN waifie Juart §?

(a) For reducing the cost of research/T & @A
T T F fou

(b) For academic decoration/ 37Tt U 7]
) For enhancing the scope of accessibility of

rescarch data/SY & W& @ UG
TR d fERe

(d) For promoting dialogic interactions/HaTeed
s 5 ¥R




ICT application in research is most useful for
which of the following reasons?

frmffiaa # @ ferw @nw & amam w oy §

YOl 3N wyew grenfia (o W f) @

YYAN waifie Juart §?

(a) For reducing the cost of research/T & @A
T T F fou

(b) For academic decoration/3THTeHa AR %@
(¢) For enhancing the scope of accessibility of

rescarch data/STY & W& @ IUGEE
T # fo

(d) For promoting dialogic interactions/HeTelea
s 5 ¥R

Ans, (c) : ¥ & S&di @1 30 i R ¥ faww
o 9§ T U S & S it
JEEEXR PR E kR el e
WA @3 T @ Wi e & avew, fud fm
F, W W FE a0 e & fou s
IEam 1

=
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The key of active listening by students in a

classroom is \b
fornféfa g @en ® et @ ¥ TR @ -

I ¢
(a) Sympathy towards the teacher/ Wi & ¥

b
(b) lnterest in informal education/3TTaa e

(c) Empathetlc learning/ e \}@{

(d) Desire to memorize/FT0 & 3 TR




The key of active listening by students in )
classroom is

fognfeat g Fan W gW @0 W G @
o ¢
(a) Sympathy towards the teacher/ e i

(b) Interest i informal education/ AT e

Y ¥
(¢) Empathetic leaming/ﬂij‘[ﬁ?ﬁ oy
(d) Desire to memorize/HHUI W & T

Ans, (c) : S0 5901 3 fet, 1 0 ! e
31 T A T & e R & T W
e oD fe am 1 4
T T & W 3




Semantic noise in classroom communication
can be limited by avoiding the use of

HATTT TG | 31T I ot wifira e s
Hehdl '%, frae: 3T ¥ T

(a) Dialogues/HdT&
(b) Cliched jargon/fori-fadl yrsarait
(¢c) Non verbal clues/T - Wfedd Haha
(d) Multi-media/meel - Hifean




Communicated message is considered as a/an

TNl WY @t WA e

(aSocial product/HTHITSi @\/ \\~
b) Unnatural product/ﬁ? - W0 I

¢) Spin-off product/31eiféd (e - %) IR
d) Techno producvéﬁ IS

(
(
(




Which of the following are useful in
overcoming the communication barriers in a
classroom?

Ha T W HUNUT o 3iaiia 3TaUell okl ¥ &hid oh
foo famifesa @ @ o/ SaaEit €2
\/l./ldentifying the level of redundancy/I=EI€aT
% T H g@AE HEAT
2. Use of unfamiliar words/37affaa v==i @1
39T
3. Ignoring the students vocabulary/faznfef=i &
IEE-FT &l G HLAT
4. Fragmented sentences/@fved aaa
5/ Voice inflexion/arcfi § 3aR-"ged
6. (ontextualizing the speech/9TSUT & W

FATAT

Choose the correct answer from the options
given below

=t fau 1o faemeat § 9 @& s ISu:
(a) 1.2 and 3/1, 2 37X 3
(b) 2.3 and 4/2, 3 31X 4

(¢c) 3.4 and 6/3, 4 3T 6
(d) 1.,5and 6/1, 5 3T 6




Which of the following are wuseful in
overcoming the communication barriers in a
classroom?

HaT W HYNUT o iaiia Tarel &l 9 i &
fou fa=ifera & & & STt €2
1. Identifying the level of redundancy/Is2lEs
% T H GBI HAT
2. Use of unfamiliar words/379fRf9d w=al 1
39T
3. Ignoring the students vocabulary/faanfdai &
IER-F Hl FASEN HEAT
4. Fragmented sentences/@fvgd ara
5. Voice inflexion/anfi § 3ar-9gE
6. Contextualizing the speech/dT¥UT & WEfTSH
ATl

Choose the correct answer from the options
given below

e fau o faereat @ ¥ @Et W g
(a) 1,2and 3/1, 2 30X 3
(b) 2,3 and 4/2, 3 3R 4
(c) 3.4 and 6/3, 4 3T 6
(d) 1,5and 6/1, 5 3T 6

And/(d) ) T W e a0 R WS g
T W QI & A s B R & & fog fe
fag It 21

. V&IEER & TR & A &

), anft § 3aR-ded

3, Y07 1 Y

—
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Assertion/3Tf9&ReA (A) : Skills of oration
coupled with wit and humour make classroom
communication compelling/2®¥ 3R 9@ & 9y
a1 HIYTET Hedl TIN0T H @S ST 2 |
Reason/deh (R) : Rhetorical interventions do not
make classroom communication purposeful/
AMEAHIH T H&T TaR H ILIAWH el a41d & |
In the light of the above two statements choose
the correct option.

SUITTh AT o 3TTelleh |, el faehea gf—u:

(a) Both (A) and (R) are true and (R) i1s the
correct explanation of (A)/(A) 3R (R) a1
& 2 3 (R), (A) F T& ==%AT 2 |

(b) Both (A) and (R) are true and (R) 1s not the
correct explanation of (A)/(A) (R) gl

‘jﬁé AR (R), (A) T T&t =A% 781 2
(A) is true but (R) is false/(A) & &, T (R)
TTed 2|

(d) (A) 1s false but (R) 1s true/(A) Tad g, RLC|
(R) T&t 21




Assertion/3TTT&a= (A) : Skills of oration
coupled with wit and humour make classroom
communication compelling/ad 3R 9fE™d & a1
alh IV FHE YN FHI TEIESE T B |
Reason/dch (R) : Rhetorical interventions do not
make classroom communication purposeful/
ARG LR FaT TaR & ILYATS T&) a1 ¢ |
In the light of the above two statements choose
the correct option.

IUTTh HAAT o ATeAleh U, WEt fashew i

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) AN (R) GE|
TE & FHR (R), (A) FT & AT B

(b) Both (A) and (R) are true and (l;%vis not thq
correct explanation of (A)/(A) (R) GE
e g 3R (R), (A) F & =0 T 2

(¢) (A) is true but (R) is false/(A) H&l g, T (R)
Ted 21

(d) (A) 1s false but (R) is true/(A) TTed 2, i
(R) &t 21

Ans. (¢) : 341 5 i@ @ 9 & 7 AR @
3 70 21 75 i e 3 e o 2
W A TR & WY 9 H O § A
T 21 A e o F G § R
ok (N




The missing two numbers in the followiné ®\/

series are

fowafeifiga sigem & amet 2 e @ g’
,4,3,16,5,36,,2,9, 100

(a) 7,50 (b) 7, 64

(c) 8,72 (d) 8, 81




The missing two numbers in the followiné Ans, (0): 30 4T TR0 WH@W 7
seriesare. a1, o o el &1 a8 ¢ o o Fr
e 013 S VO RO\ o i o 1

v 151 1?!?1! ) ) ) ) )
oA e IR LELES0180 10

(¢ 8,72 ) 8.8l 105.16,5.36,7.64.9 10

_




In a certain coded language 'CHEMISTRY' isl \ o
written as D G F L J R U G Z, then in the same —
code 'GEOMETRY' will be written as:

afe feft @ wmr & 'CHEMISTRY' &

'DGFLIRUGZ' ferr s & at gt e s
¥ 'GEOMETRY' @t o % # forn s

(a) HDPLFSSZ (b) HDLPFSXS
(c) HLDPFSSX (d) HDPLFSSX




In a certain coded language 'CHEMISTRY' i CHEMI STRY
written as D G F L J R U G Z, then in the same

code 'GEOMETRY' will be written as: Ans. (d): +1 =1 +1 =1 +1 -1 41 -1 4]
R fadt gz o d CHEMISTRY' & DGFLIRUQZ

DGFLIRUGEZ frrar T g i de | | G E OME T R Y
% 'GEOMETRY' 1 for 0 W fer@l aMOM: | |9 40 | ] < 4] | 4| -]
() HDPLFSSZ (b HDLPFSXS D PR QY
(c) HLDPFSSX () ADPLFSSX v




The next term in the following series is ABB;
BCF, CDL?
et e & SrTen ug @ g’ 1~

ABB, BCF, CDL?
(a) DEU b) DET \/

(c) DES (d) DER




The next term in the following series is ABB,
BCF, CDL?
ferfeign Sge & SrTen wg @ g’
ABB, BCF, CDL?
) DEU () DETD
(c) DES (d) DER

A B B
Ans. (b){+1v +1v +
C F

Hy 41 464
C D L

Hv 4 Hy

o
-




Out of the given four options which one does
not belong to the class of other three?

Neurologist, Cardiologist, Alchemist,
Gynecologist

Frer fou 0w fawed W | @ W I dF
sifore | weiferd et 87

dftre fagrdt, gEamm favw, @ifremm,
wirnT fegr

(a) Gynecologistfdﬁﬂ fagm

(b) Cardiologist/éi‘q'ﬂﬂ EMLF

(Q Alchemisyaifmm )

(d) Neurologist/dfa fagmt

6~




Out of the given four options which one does
not belong to the class of other three?
Neurologist, Cardiologist, Alchemist,

Gynecologist
et fou T ww foeent @ @ @ W o dF

st & e 7 &7 o
df fagrh, feam fave, @,
Bt favr

(a) Gyneco]ogist/@'ﬂﬁ favmg
b) Cardlologlst/E?.'?lﬂ"T favm
¢) Alchemist/&fiamT

(Gfam 2 = =% 3 7 @ @ aw o

Ans, () : F fe mu oR fomedt A @ @ (dfmfaqe,
Fegu faumg s H faves) fofee gadt ameem
8 g ¢, 94 i Aifiam a8 e ¢ o ol s
8 91 1 vt fmad 8-

ARG = 9@ o Afas, 7 & &g om0 @
mmmﬁﬁmaﬁwmﬁl

G i i = @ 9 7 g e @
& 8

Hl I

Bl
ICIQIW

. = @@ o ARt & Yo @R
Cukd

(
(
(d) Neurologist/df fagr

FG F 2




The proportions "All Indians eat rice" and

"Some Indians eat rice” are an example of < \ A )
e - A - vt I W a Ha

' v g o R g,
Forvat T S e
(a) Sub-alternation/3THIV

b) Contraries/faudimd® wee
¢

) Contradictions/faTensTa
d) Sub contraries/39 faTmd® &

(
(
(




The proportions "All Indians eat rice" and
"Some Indians eat rice" are an example of

& - T - ' avft Wl e o va
{" st s e 0 e
WEW%

(a) Sub-alternation/JH40

b) Contraries/fawiimds W

)
) Contradictions faremara
)

(
(
(d) Sub contraries/39 fawiadd e

An g 7 FfT e A A o foe
Wﬁlﬂﬁwﬁﬂéﬁ?l
mft Rl 9 1 W e 3|
%9 WA T 3§ 3 ¢
I A ad AR o T g e A
g
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By which means of knowledge in Indian logic,

the similarity betwc_een two objects is drawn’ 99
o e T G PR WA A
TN & ffer T T e 7 =

) Comparison/fe ~ (b) Inference/3F
¢) Perception/SZ  (d) Implicationfigrd




"Mr. X is penniless. Therefore, he should be
given preference in admission to college'. This
reasoning represents which kind of fallacy?

" iR Te I &1 ST SHeR! WETaETeS
o gayr 34 W aftgar fear = enfgu)’’ ug 9@
- 219 T WehT & SIY ol Tideh &7

(a) Ad hominem/tg giftem

(b) Ad misericordiam/tg fisiaifdan

(¢) Ad baculum/tg égr«m
(d) Ignoratio elenchi/ZT R Fihrs




"Mr. X is penniless. Therefore, he should be
given preference in admission to college". This
reasoning represents which kind of fallacy?

"“fireeT T S 81 FHICT TR WRTTerEeTa
W Wawr &3 W e foun an i’ a9
- 3 FoFT YT & 30 & i §7

(2) Ad hominem/Tg ZIfim

(b) Ad misericordiam/Tg firsfiifeam

(c) Ad baculum/Tg a?jﬂﬂ
(d) Ignoratio elenchi/ZRTYTaT e

Ans.(b):@mﬁmﬂﬂémﬁ
A ot 31 el el 31 MR 0 7 @
g &0 a1 AW 0 41 IV 4000 e X &
e s 1 S R 8 o




What is the difference between the number of
academic books published by publishing houses
A and D?

W9 T A 3T D gRT Waniya Iraheiue

TEachl @l WEAT § fehar aifaw 87
(a) 450 (b) 504
(c) 540 (d) 604

Publishing | Numberof | Ratio of Percentage No. of
House Books Academic of Books Distributors
'EANE] Published | and Non- | Distributed | in Publishing
T yEE | Academic GGG House
ot Books I RELER
o i
CCAGIGS
T &
JuTd
A 28200 [, 81 17
B 32200 59 74 2
C 29700 0:5 92 18
D 31200 8:5 86 L}
E 33800 7:6 18 26
F 35700 11:6 82 21
G 37800 5:13 89 L}




Publishing | Number of | -~ Ratioof | Percentage | No.of What is the difference between the number of
House B“?'“ A‘“‘d‘:m" {’r Pf““'“ D“m‘“ academic books published by publishing houses
CANIE Published | and hm!- Distributed | in Publishing A and D?
W m A?:'fk';"" g:gﬂw Wl'lg’l! YEHYHE g A AT D G U AwhEtch
Vo BCACH1C Pl # P UAchi ol ST | fehaT 3w €7
A i dven | @ 450 (b) 504
P (c) 540 (d) 604
gm’im Ans(é)'AmWﬁﬁmWﬂmb
S )
A 28200 /i 81 17 ]
B 32200 39 14 23 1() s B
( 29700 0:5 92 18 D 210 Yl st W F T
D 31200 8:5 86 L} 3
E 33800 7:6 8 26 = -I—3 x 31200 = 19200
F W00 | 16 | 82 2l Py
G w0 1 5 18 24| [T TSR = 19740- 19200 5540 MR




Publishing | Numberof | Ratio of Percentage No. of
House Books Academic of Books Distributors
'EALE] Published | and Non- | Distributed | inPublishing
" TEE | Academic foatta House
3 Books I RELER
R o
Wk
T @
T
A 28200 [ 81 17
B 32200 59 74 2
4 29700 0:5 92 18
D 31200 §:5 86 L}
E 33800 7:6 8 26
F 35700 11:6 82 21
G 37800 5:13 89 4

How many books were given to each
distributor by publisher E, if each distributor
gets equal number of books?

af yaw fame =t oue g § e
ferdt € Oy faais &F Uswie E g

fora=t geaeh &t 7 oft?
(a) 1024 (b) 1014
(c) 986 (d) 962




Publishing | Numberof | Ratioof | Percentage No. of How many books were given to each
House Books Academic of Books Distributors distributor by publisher E, if each distributor
EALE Published | and Non- | Distributed | inPublishing  gets equal number of books? . .
- Yy | Academic | fomfa House gfe yde faate @t @O= @@ °H g
waa | Bk | gl | EWTE fedt € @ oy e @ yewe E g
| T | e | P e ge & o
3l #Hdenr  (a) 1024 (b) 1014
T (c) 986 (d) 962
wm . . \ ., —
.(b): EGIEG) 3l X —
T Ans. (b) : E g1 T F HE = 33800 ™
A 800 | 73 T 17 = §,3'64
B nm | 59 | ™ p | R A= .
C W0 | 65 | 9 1§ | |30 S0 ol aw oA gl & g o = —
D 31200 §:3 86 2 = 1014
E 300 | 7:6 8 26 T2t -
| 35700 | 11:6 82 ] Eerie ﬂ
G 800 | 53 [ T Y




What is the average number of non-academic
book published by publishers F and G?

Weh9Teh F 3T G EWT Wahiyd T 2Tahiaiieh

TAahi et 3iTHA HEAT fehat 87
(a) 18850 (b) 18950
(c) 19850 (d) 19950

Publishing | Numberof | Ratioof | Percentage No. of
House Books Academic of Books Distributors
'CALE] Published | and Non- | Distributed | inPublishing
T T | Academic CGIEGH House
L3 Books v | TEVH TR
3w i o
CEAHUED
T
U
A 28200 [, 81 17
B 32200 59 74 2
C 29700 0:5 92 18
D 31200 8:5 86 px!
E 33800 7:6 18 26
F 35700 11:6 82 2
G 37800 513 89 A




nPublishing  geproTR F 3w G gET W X srewefte

What is the average number of non-academic
book published by publishers F and G?

TAahi et 3iTHA HEAT fehat 87
(a) 18850 (b) 18950
(c) 19850 (d) 19950

Ans. (d) : F 3R I TR THRES [l H 9@ =
35700><%:>1,26,00

G & YHI¥A R hRfis qa # 9@ = 35700 x
%:27300
F 3R G g0 S §a W EEis el & 9@

— 12600 + 27300 = 39900
3a: iy 3itad = @= 19950

Publishing | Numberof | Ratioof | Percentage No. of
House Books Academic of Books Distributors
'CALE] Published | and Non- | Distributed
T T | Academic CGIEGH House
L3 Books v | TEVH TR
3w i o
CEAHUED
T
U
A 28200 [, 81 17
B 32200 59 74 2
C 29700 0:5 92 18
D 31200 8:5 86 px!
E 33800 7:6 18 26
F 35700 11:6 82 2
G 37800 513 89 A




What is the total number of books distributed.
by publishers C and E? .
w3 E g faafla gt &t g

&t fera-t &7
(a) 53688 (b) 54026
(c) 27513 (d) 27324

Publishing | Numberof | Ratio of Percentage No. of
House Books Academic of Books Distributors
CANE] Published | and Non- | Distributed | in Publishing
T TEHTE | Academic faana House
ot Books B RELER
s in 3o
B GGG
T &
Fqurd
A 28200 1.3 81 17
B 32200 59 4 23
C 29700 0:5 92 18
D 31200 8:5 86 4
E 33800 T1:6 8 26
F 35700 11:6 82 21
G 37800 K 89 4




P“lll’liShi“g N“I;"bi: of AR"::“ “f P"-‘tfg’“t:sg" 'N“-"f What is the total number of books distributed.
ouse 00 cademic 01 BooO Distributors : 92
'CANC] Published | and Non- | Distributed | inPublishing mlsge;;-f En;f,r.m SF“E% Gk LC
T Y& | Academic faafta House fret 82
wa | Bk | g | TWE 0 '
; i i | (@) 53688 (b) 54026
L PO yfevra i (c) 27513 (d) 27324
T ; g 92
- Ans.(a):CmﬁﬂﬁHWﬁF@TﬂWOOx@
it =
A 28200 1.3 81 17 1132
B I 4 B | ||E e femfa g &t g = 33800
( 29700 0:5 92 18 : e 3
D 3200 | 85 | 86 24| ||C AR E g farfta g af He
F 33800 746 78 26 =27324 + 26364 = 53688 c2 5 g
F ¥00 | 16 | 82 21 s |
G 37800 | 513 89 2 N

v:




[dentify the correct pair from the following:

fefertign % @ WE T @ Tga &

(a) AVI - File Transfer Protocol/T df 9 - WE

(b) Excel - Word Processing Software/TFd -
78 Wi R

(c) HDD - Cloud Storage Facility/@d & @ -
FI3E WIS Hfert

(d) Ubuntu-Operating System/ 343w firem




[dentify the correct pair from the following: Ans. () : 0 T8 70 1 W A g

wfeian ¥ 9 W) 9 & TG & |, o, = st dfed sz e e 4
(a) ;\;:5; ljllem;;nsfer Protocol/¥ & 3% - B . g:";l?;ﬂmi bt s it e k4

a fel Teme, M., i 3w & Fam
(b) Excel - Word Processing Soﬂwaref@ﬁa - i 2|

T YA GRam ), WADA = @ T W AR o g 4| W
N el 3 TRV A 2|
(c) HDD - Cloud Storage Factlity/Td g g - { s ,
T g e fiwem ¢
FTe W e *1> *

(d) Ubuntu-Operating System/ 34417627 iz




BCD stands for
af ot g & T %:

Binary Coded Decimal @50 #1e¢ e
Binary Coded Digitard #iee fefie

Bit Coded Decimal fa¢ #eg g

Bit Coded Digitfa #eg fefiwe




Which one of the following represents one
billion characters?

fefefiga @ @ & | ana (fafeem ) des
T e §7

(a) 1 Kilobyte/1 foe a1ge

b) | Megabyte/l ¥ 312

¢) | Gigabyte/I T a2

d) 1 Terabyte/] 27 %2




Scrambling of data before transmission across
a network to avoid manipulation by a third
party 1S KnOWn as ...

ot T T4 g - W g & fou
el Yead § wom % W T fw
(eRmaferT ) i o g1 Tl §7

(a) Protection/ MM (b) Permutation/5¥dd
(¢) Detection/®WH  (d) Encryption/$dg




Scrambling of data before transmission across | |Ans, d) : 221 foa el <1 a1 R 1 72M
a network to avoid manipulation by a third . nfetie i 2 o Fzas Fi 70 W W0 &

PAIY 1S KNOWD A5 s W 3 70 § f e e @ il et o
o i 0 -0 8 T 3 T & W & o e

i ewh & wam F W 7
(el ) & 1 ) 1 ¢

a) Protection/ T (b) Permutation/Fe
o) Detection/ 7=~ (d) Encryption/déag




A measure such as building a plinthwall for
floods would be termed as

a1g Tehd oh for0 et ( fedter ) Eam s o
JUT T T gl ST

(a) Preparedness/‘ff qar

(b) Prevention/fFramur

(¢) Mitigation/IMH

(d) Adaptation/3ffdherd




Presently, which of the following contributes to
the total installed renewable energy capacity in
India currently.

mﬁaﬁnﬁwmﬁﬂqﬁmﬂam
graar " faafeafiga o foea-faea & ame= §:
1. Solar energy/ﬁ'( ol

2. Wind energy/9a- sl

3. Hydroelectricity/Siel faga
4. Conversion of Urban and industrial waste 1n

energy/¥Ed 3R Iwifies 3mafyry &1 et #
EYTAL0T

5. Biomass energy/aTarard Zsii

6. Geothermal power/fSrarade s

Choose the correct answer from the options
given below

frafafaa ® | 9t faswea 99

(a) 1,2.3,5and 6/1, 2, 3, 5 3T 6
(b) 1,2.3.4and 6/1, 2, 3, 4 3R 6
(¢) 1,2.3.4and 5/1, 2, 3, 4 3R 5
(d) 1,2,3,4,5and 6/1, 2, 3, 4, 5 3 6

2 - |




The most relevant effect of particulate matter
in air, on human health is:

a9 ¥ dER ugd @ IuRfd @ W

W T aite yrfie yura fefofea o

ﬁmm%:

(a) Impaired blood formation/Tth fermfor eferaan

(b) Chest congestion/8Tdl # e

(c) Aggravation of respiratory diseases/4Td Hae
T & a

(d) Headache and rise in blood pressure level/

A R L e




In developing countries, the fraction of food
waste in the composition of municipal solid
waste is typically in the range

forermagfier <ot o it 3 avaw @t He
T G YA o o bty e @ g7
(a) 10-15% (b) 20-30%

(c) 25-35%

(d) Greater than 40%/40%  Hft




Which of the following schemes of Government
of India aims to support innovative research
projects that are socially relevant, locally need
based, nationally important and globally
significant?

UHA WK i =fafgd faa ars=n & seva
AT AT URESR s Wl o g,
S G B ¥ Ui, T smayadhar
FgEu, T 3 ¥ weva qun afye wewd
@A

(a) SPARC/TH U U 3R 4

(b) STRIDE/TH & 311 378 € 3

(c) IMPRESS/3TE 1t i 31K § U9 T§

(d) STARS/tH &1 T 3R ©q




Which of the following schemes of Government
of India aims to support innovative research
projects that are socially relevant, locally need
based, nationally important and globally
significant?

TN W ot frefaiga fem aremT & s2va
TAIHET ST YRS @l WWeA 3 g,
T AN ®U W YTHATE, W Savaddn
WIE, T I | wEwaul aur afyE wE
& e

(a) SPARC/TH 4 T 3R i

(b) STRIDE/Tg & 3R 378 & §

)
(c) IMPRESS/3TE wq i 3R § g wg
(d) STARS/'H &} U 3K Tq

Ans, (b) : T TER & WAL, (@ G
71w fefifiat e o 3fvea eaain gam) A
F 300 T FHA TR # W e
qwod & 8 Sl W v S, T
oY ¥ et 7 ofvad e & gl

:2 N \ - |IE
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